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Note :– This paper is of Seventy (70) marks divided into

Two (02) Sections ‘A’ and ‘B’. Attempt the

questions contained in these Sections according to

the detailed instructions given therein. Candidates

should limit their answers to the questions on the

given answer sheet. No additional (B) answer

sheet will be issued.

uksV :µ ;g iz'u&i= lÙkj (70) vadksa dk gS] tks nks (02) [k.Mksa

^d* rFkk ^[k* esa foHkkftr gSA izR;sd [k.M esa fn, x,

foLr̀r funsZ'kksa ds vuqlkj gh iz'uksa dks gy djuk gSA ijh{kkFkhZ

vius iz'uksa ds mÙkj nh xbZ mÙkj&iqfLrdk rd gh lhfer

j[ksaA dksbZ vfrfjDr (ch) mÙkj&iqfLrdk tkjh ugha dh

tk;sxhA
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Section–A

([k.M–d)

Long Answer Type Questions

(nh?kZ mÙkjh; iz'u) 2×19=38

Note :– Section ‘A’ contains Five (05) Long-answer

type questions of Nineteen (19) marks each.

Learners are required to answer any two (02)

questions only.

uksV :µ [k.M ^d* esa ik¡p (05) nh?kZ mÙkjh; iz'u fn;s x;s gSa] izR;sd

iz'u ds fy, mUuhl (19) vad fu/kkZfjr gSaA f'k{kk£Fk;ksa dks

buesa ls dsoy nks (02) iz'uksa ds mÙkj nsus gSaA

1. Define interhalogen compounds, Provide the structure

and bonding of one molecule from each class of

interhalogen compounds.

baVjgSykstu ;kSfxdksa dks ifjHkkf"kr dhft,A baVjgSykstu ;kSfxdksa

ds izR;sd oxZ ls ,d v.kq dh lajpuk vkSj ca/ku dk o.kZu

dhft,A
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2. What is the first order reaction ? Derive an expression

for the rate constant of a first-order reaction.

izFke dksfV vfHkfØ;k D;k gS \ izFke dksfV vfHkfØ;k ds fy,

nj fLFkjkad dk O;atu izkIr dhft,A

3. What are the colloides ? How are they classified ? Give

the uses of colloides various field.

dksykbM D;k gS \ bUgsa dSls oxhZÏr fd;k tkrk gS \ fofHkék {ks=ksa

esa dksykbM dk mi;ksx crkb,A

4. What are aromatic compounds ? Discuss the

mechanisms of the following reactions in detail, with

reference to electrophilic substitution reactions :

(a) Nitration

(b) Sulfonation

(c) Chlorination

,jkseSfVd ;kSfxd D;k gksrs gSa \ fuEufyf[kr vfHkfØ;kvksa dh

fØ;kfof/k dk foLrkj ls o.kZu dhft,] fo'ks"k :i ls

bysDVªksfQfyd izfrLFkkiu vfHkfØ;kvksa ds lanHkZ esa %

(v) ukbVªs'ku

(c) lYQksus'ku

(l) Dyksjhus'ku
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5. Discuss the periodic trends in alkali metals with

reference to the following properties :

(a) Hydroxides

(b) Oxides

(c) Solubility

(d) Hydration

{kkjh; /kkrqvksa esa lewg izo`fÙk;ksa ij fuEufyf[kr fcUnqvksa ds lanHkZ

esa ppkZ dhft, %

(v) gkbMªkWDlkbM

(c) vkWDlkbM

(l) ?kqyu'khyrk

(n) gkbMªs'ku

Section–B

([k.M–[k)

Short Answer Type Questions

(y?kq mÙkjh; iz'u) 4×8=32

Note :– Section ‘B’ contains Eight (08) Short-answer type

questions of Eight (08) marks each. Learners are

required to answer any four (04) questions only.
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uksV :µ [k.M ^[k* esa vkB (08) y?kq mÙkjh; iz'u fn;s x;s gSa]

izR;sd iz'u ds fy, vkB (08) vad fu/kkZfjr gSaA f'k{kk£Fk;ksa

dks buesa ls dsoy pkj (04) iz'uksa ds mÙkj nsus gSaA

1. What are extensive and intensive properties ? Provide

two examples of each.

foLrkfjr vkSj var£ufgr xq.k D;k gSa \ izR;sd ds nks mnkgj.k

iznku dhft,A

2. What is Le Chatelier’s Principle, and how does it apply

to chemical equilibrium ?

ys 'kSVsfy;j dk fl¼kUr D;k gS vkSj ;g jklk;fud lkE; ij dSls

ykxw gksrk gS \

3. Explain the concepts of solubility and solubility product.

How are these terms related ?

?kqyu'khyrk vkSj ?kqyu'khyrk mRikn dh vo/kkj.kkvksa dh O;k[;k

dhft,A ;s 'krs± ,d&nwljs ls dSls lEcfU/kr gSa \

4. Write notes on the following :

(a) Tyndall Effect

(b) The Gold Number

(c) Brownian Movement
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fuEufyf[kr ij fVIif.k;k¡ fyf[k, %

(v) fVaMky izHkko

(c) xksYM la[;k

(l) czkmfu;u xfr

5. What is the ortho/para ratio in aromatic electrophilic

substitution ? Why does phenol exhibit greater reactivity

compared to nitrobenzene in these reactions ?

vjkseSfVd bysDVªksfQfyd izfrLFkkiu esa vkWFkksZ@iSjk vuqikr D;k

gksrk gS \ bu izfrfØ;kvksa esa fQukWy dh izfrfØ;k'khyrk

ukbVªkscsathu dh rqyuk esa vf/kd D;ksa gksrh gS \

6. Account for the following :

(a) Why is SiO2 a solid while CO2 exists as a gas ?

(b) Explain why BF3 behaves as an acid, whereas

PCl3 functions as a base.

fuEufyf[kr ds fy, mÙkj nhft, %

(v) SiO2 Bksl D;ksa gS tcfd CO2 xSl ds :i esa ekStwn gS \

(c) BF3 ,d vEy ds :i esa O;ogkj D;ksa djrk gS] tcfd

PCl3 ,d vk/kkj ds :i esa dk;Z djrk gSA
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7. Discuss the tendency of S-block elements to form

complexes. What factors influence this tendency ?

S-CykWd rRoksa ds tfVy ;kSfxd cukus dh izo`fÙk ij ppkZ

dhft,A bl izo`fÙk dks izHkkfor djus okys dkSu ls dkjd gSa \

8. What is the Fajan Rule ? Explain with appropriate

examples.

Qtku fu;e D;k gS \ mfpr mnkgj.k ds lkFk le>kb,A

**************


